Rittal - The System.

Faster — better — worldwide.

PykoBOACTBO NO MOHTaXy U 3KCnJlyaTauum
Assembly and operating instructions
Notice de montage et mode d’emploi
Montage- en bedieningshandleiding
Montage- och bruksanvisning

Istruzioni di montaggio e funzionamento
Instrucciones de montaje

iR R BAE

- ENCLOSURES POWER DISTRIBUTION CLIMATE CONTROL IT INFRASTRUCTURE SOFTWARE & SERVICES

AE JlnctoBas ctanb
AE Sheet steel

AE 1030.500
AE 1031.500
AE 1032.500
AE 1033.500
AE 1034.500
AE 1035.500
AE 1036.500
AE 1037.500
AE 1038.500
AE 1039.500
AE 1045.500
AE 1050.500

AE 1054.500
AE 1055.500
AE 1057.500
AE 1058.500
AE 1060.500
AE 1073.500
AE 1076.500
AE 1077.500
AE 1090.500
AE 1100.500
AE 1110.500
AE 1114.500

AE 1130.500
AE 1180.500
AE 1213.500
AE 1260.500
AE 1280.500
AE 1338.500
AE 1339.500
AE 1350.500
AE 1360.500
AE 1376.500

=i

RITTAL




<

ﬂ CopepxaHue

NakeT ¢ NpyHagnexHoCTAMM /
Contents of the accessory bag

CMeHa HaBeCKM ABepu, OOHOCTBOPYATOW/
How to swap the door hinge in single doors

CMeHa HaBeCKv ABepu, AByCTBOpH4aTOn/
How to swap the door hinge in double doors

[TOBOPOTHBIN 3aMOK, 3MeHeHWe/
How to convert the camlock

LLITaHroBbIn 3anop, M3MeHeHme/
How to convert the locking rod

YcTaHOoBKa MOHT&XXHOW naHenn/
How to install the mouting plate

[NoagkntodeHre 3a3emneHns/
Earthing connection

YcTaHoBKa dnaHLu-naHenu/
How to install gland plates

Barnywkwn/
Sealing bungs

TpaHcnopTuposka/Transport
PacnonoxxeHwne/Siting

Tabnuua Harpysok/Load table
TennosblgeneHne/Heat loss

CreneHb 3awmTbl/Degree of protection
3ameTtkn/Notes

Table of contents

Ctpanuua/Page
3

8+9
8+9
10
11

12 + 13
14
15
16
17
18 + 19

PykoBoacTteo no moHTaxy Rittal AE



1030.500

1031.500
1033500 | 1139.500
1034500 | 1054.500
1036500 | 1055500
1037500 | 1058.500
1038500 | 1060.500
1045500 | 1076.500
1050500 | 1077.500
Conepxame et
MakeT ¢ npuHapnexHocTamu 1032.500 1260.500 | 1350500 | 1360.500 | 1114.500 | 1110.500
Contents / Accessory bag 1035500 | 1073.500 | 1180.500 | 1280500 | 1380500 | 1376500 | 1213500 | 1130500 | 1100.500
1 1 1 1 1 1 1 1 1
29 5 4 4 4 4 4 4 4 4
O AN 16 3 7 7 1 1 7 7 1
M 8x30 1 1 1 1 1 1 1 1
Y e— M6 x25 1
M6x 12 1 1 1 1 1 1 2 2 2
282 2 2 2 2 2 2 2 2
‘ 26,1 3 1 1 1 1 1 2 2 2
@ M8 4 5 4 4 6 6
VE 3 3 3 3 3 3 3 3
@ M6 10 1 1 1 1 1 2 2 2
A84 2 2 2 2 2 2 2 2
AB4 3 1 1 1 1 1 2 2 2
6} ABG4x18 6
5 M6 A6 1
s
{ﬁ VES A8 1 1 1 1 1 1 1 1
@ 3 3 3 3 3 3 4 4 4
E[z M8 x 48 4 5 4 4 6 6
e wexzs | 3
Jﬂ]m 48x95 4 12 12 12 8 12 16 16 16
@‘ 1 1 1 1 1 1 2 2 2

PykoBoacTBo no MoHTaxky Rittal AE



SM 2432.000
e N———

1
PH 2

o~

Mp=2,

SM 2432.000

PykoBoncTtso no moHTaxy Rittal AE



SM 2432.000
e Ne——

—
PH 2

e

SM 2432.000

SM 2432.000

PykoBoacTBo no MoHTaxky Rittal AE



Pz2

Taxy Rittal AE

PykoB



Pz2 "

(| Il maxs

I Lr

M5x6

PykoBoacTBo no MoHTaxky Rittal AE



SW 10
SW 13

Tk=8,1x106A2¢
Mp =10 Hwm

AE 1032.500
AE 1035.500

Tk=8,1x108A%¢
Mp =10 Hm

M 8 x 30

T

M6 x 25

M6 x 12

@82

@6,1

M8

M6

A8,4

AB4

A8

A6

® e © @

SZ 256X.XXX

M8: Mp = 10 Hm

1032.500
1035.500
M6: Mp = 5 Hv

PykoBoncTtso no moHTaxy Rittal AE



SW 10
SW 13

M 8 x 30

M6 x12

@82

@6,1

M8

M6

A84

AG6,4

M8

A8

e © @ @

Tk =8,1x108A2¢c
Mp =10 Hm

SZ 2564.010

PykoBoacTBo no MoHTaxky Rittal AE




PykoBoncTtso no moHTaxy Rittal AE

10



o 16 @ o9
=

Kpbiwa
Roof

3apHsaa cTeHka
Rear wall

@ 16 (2x)

AE 1073.500 '.'| s
AE 1180.500, AE 1260.500 | P

AE 1280.500, AE 1114.500 :\

AE 1213.500, AE 1110.500 |

AE 1130.500

Bg - @ 9 (4x)
0 16 (1x) Z

OcHoBaHue
Base

29 (1x)

AE 1032.500,
AE 1035.500

@ 16 (4x)

AE 1180.500, AE 1260.500
AE 1280.500, AE 1114.500
AE 1213.500, AE 1110.500
AE 1130.500

PykoBoacTteo no MoHTaxy Rittal AE 11



PykoBoacTteo no moHTaxy Rittal AE

12



2509.000

Gzl
F ¢
L e
[13]

o

&

Mp 30*% Hm

AE 1090.500
AE 1180.500
AE 1280.500
AE 1213.500
AE 1130.500
AE 1260.500
AE 1114.500
AE 1110.500

L~

[Mpr CUMMETPUYHON Harpy3Ke OeUCTBYIOT Creayro-
e JOMyCTUMbIE 3HAYEHUST CyMMAPHOW Harpy3Km

With symmetrical load as shown above the
permissible overall loading capacity is L &

45° npw/of F = 2400 H

/\ 60° npw/of F = 3200 H

TpaHCnopTUPOBKA NPV CUMMETPUYHOW Harpy3sKe
BEPTVKabHO BBEPX, HArpy3ka Ha pbiM-601T
(SZ 2509.000) F = 2000 H

With symmetrical load going vertically upwards
the transport load capacity per eyebolt
(SZ 2509.000) is F = 2000 N

PykoBoacTteo no MoHTaxy Rittal AE 13



PykoBoacTteo no moHTaxy Rittal AE



TexHn4yeckue xapaktepuctuku AE

Technical Data AE

Paamepbl [Mm] VIcnonHeHe MOHTaXKHOI naHenm Harpyaka [H]
ApT. Ne: Dimensions [mm] O6vem [1] Execution Mounting Plate Load [N]
Order Number: LLnpuHa Bbicota Mmy6uHa Volume ] TonwwHa [Mv] Bcero MoHTaxxHas naHenb [Bepb
Spreads Height Deep Thickness [mm] Entively Mounting Plate Door
1032.500 200 300 120 7,20 2,0
1035.500 200 300 155 9,30 2,0
1036.500 300 300 155 13,95 2,0
1033.500 300 300 210 18,90 2,0
1034.500 300 400 210 25,20 2,0 900 600 250
1030.500 380 300 155 17,67 2,0
1031.500 380 300 210 23,94 2,0
1045.500 400 500 210 42,00 2,0
1380.500 380 380 210 30,32 2,0
1038.500 380 600 210 47,88 2,5
1338.500 380 600 350 79,80 2,5
1050.500 500 500 210 52,50 2,5
1300 1000 250
1350.500 500 500 300 75,00 2,5
1039.500 600 380 210 47,88 2,0
1339.500 600 380 350 79,80 2,0
1037.500 400 800 300 96,00 2,5
1057.500 500 700 250 87,50 3,0
1060.500 600 600 210 75,60 2,5 1500 1200 250
1054.500 600 600 250 90,00 2,5
1360.500 600 600 350 126,00 2,5
1076.500 600 760 210 95,76 3,0
1376.500 600 760 350 159,60 3,0
1058.500 600 800 250 120,00 3,0
1800 1500 250
1077.500 760 760 210 121,30 3,0
1073.500 760 760 300 173,28 3,0
1055.500 800 600 300 144,00 2,5
1090.500 600 1000 250 150,00 3,0 2500 2000 250
1180.500 800 1000 300 240,00 3,0
1100.500 1000 760 210 159,60 3,0
2500 2000 400
1130.500 1000 760 300 228,00 3,0
1110.500 1000 1000 300 300,00 3,0
1260.500 600 1200 300 216,00 3,0
1280.500 800 1200 300 288,00 3,0
3000 2500 400
1213.500 1000 1200 300 360,00 3,0
1114.500 1000 1400 300 420,00 3,0
PykoBoacTBo no MoHTaxky Rittal AE 15



TepMM‘leCKMﬁ TenanooTrsod B 3aBMCUMOCTU OT pacnoJsioXKeHus

Thermal energy dissipation as a functon of the location

ApT. Ne:
Order Number:
W (Delta/T = 20 K)
1032.500 20 23 15
1030.500 36 4 28
1031.500 42 47 31
1033.500 36 40 25
1034.500 45 51 33
1035.500 23 26 17
1036.500 30 34 23
1037.500 116 130 85
1038.500 73 83 55
1039.500 70 80 54
1045.500 65 74 48
1050.500 76 87 58
1054.500 108 124 84
1055.500 146 167 112
1057.500 108 123 83
1058.500 136 157 108
1060.500 100 116 79
1073.500 169 195 132
1076.500 121 141 98
1077.500 145 171 119
1090.500 165 191 131
1100.500 182 215 151
1110.500 260 304 210
1114.500 345 407 285
1130.500 208 242 165
1180.500 220 255 175
1213.500 303 355 248
1260.500 210 242 164
1280.500 256 298 206
1338.500 97 107 68
1339.500 94 103 66
1350.500 91 102 66
1360.500 130 145 95
1376.500 155 175 116
1380.500 51 57 37
16 PykoBoncTtso no moHTaxy Rittal AE



CTteneHu 3awuTbl AE

Degrees of protection

ApT. Ne: CreneHb 3aLmThl

Order Number: P 2 NV
1030.500 66 08 4
1031.500 66 08 4
1032.500 66 08 4
1033.500 66 08 4
1034.500 66 08 4
1035.500 66 08 4
1036.500 66 08 4
1037.500 66 08 4
1038.500 66 08 4
1039.500 66 08 4
1045.500 66 08 4
1050.500 66 08 4
1054.500 66 08 4
1055.500 66 08 4
1057.500 66 08 4
1058.500 66 08 4
1060.500 66 08 4
1073.500 66 08 4
1076.500 66 08 4
1077.500 66 08 4
1090.500 66 08 4
1100.500 55 08 12
1110.500 55 08 19
1114.500 55 08 19
1130.500 55 08 19
1180.500 66 08 4
1213.500 55 08 19
1260.500 66 08 4
1280.500 66 08 4
1338.500 66 08 4
1339.500 66 08 4
1350.500 66 08 4
1360.500 66 08 4
1376.500 66 08 4
1380.500 66 08 4

1) corn. MOK 60529
2) corn. DIN EN 50102
3) corn. ctaHpaptam NEMA (ny6nukaums Ne 250, go 1000 B makc.)

PykoBoacTBo no MoHTaxky Rittal AE

17



3ameTku
Notes

PykoBoncTtso no moHTaxy Rittal AE



3ameTku
Notes

PykoBoacTBo no MoHTaxky Rittal AE



Rittal - The System.

Faster - better — worldwide.

m Kopnyca

B OnekTpopacnpeneneHme
B KOHTPOSb MUKpPOKS/IMMaTa
m [T-vH(pacTpyKTypa

m [10 v cepBuUC

04.2011/A 3835601 AE 74

000 "PwutTan"
Poccus - 125252 - . MockBa, yi. ABrakoHCTpykTopa MukosiHa, A. 12 (4-1 aTak)
Ten.: +7 (495) 775 02 30 - ®akc: +7(495) 775 02 39

E-mail: info@rittal.ru - www.rittal.ru ﬂ
- ENCLOSURES POWER DISTRIBUTION CLIMATE CONTROL IT INFRASTRUCTURE SOFTWARE&SERVICES RITTAL -




